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General Instructions :

(i) All questions are compulsory.

(i)  The question paper consists of 31questions divided into four sections A, B,Cand D.
Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6 questions
of 2 marks each, Section-C comprises of 10 questions of 3 marks each and Section-D

~ comprises of 11 questions of 4 marks each.
(iiiy ~ There is no overall choice. :
(iv) . Use of calculator is not permitted.

Qus-H / SECT! ION-A

g gEn 1A 4 H TAE 13 T

Question numbers 1 to 4 carry one mark each.

 Fretfetfaa st T SEU 9% 9 S 1

al=a2=2;an=an_1—-l,ﬁﬁl'$n > 17 )

Find the third term of the following sequence::

; a‘1=a2=2;an=an_,1—1,wheren >2

-15m%%m%mﬁ15m§ﬁmﬁﬂﬁﬁﬁgﬁm#ﬁr@rmwﬁMamﬁﬁm 1

 Find the angle of elevation of the top of a 15 m high tower at a point 15 m away from the base
- of the tower. ; <
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4 t@aﬁﬁo,y=oamx+y=9ma=ﬁﬁgmwﬁmsmﬁml ;
Find the centroid of the triangle formed by the lines x=0, y=0and x+y=9.

EUES-F / SECTION-B

T W& 5 W 10 ¥ Wk ¥ 2 a7 ¥ _
Quesﬁon_ numbers 5 to 10 carry two marks each. 3

2 @mammwrﬂeﬁng%?ﬁﬁmmﬁﬁm

The sum of a number and its reciprocal is -g- Find the number.

6 AP:7,10,13, ..., 184 ¥ ¥q § Waal v2 710 Fifw)

Find the 7'T' term from the end of the AP : 7, 10, 13, ey 184, ¢
7
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In given figure, PA is a common tangent and QB and PC are the tangents from Q and P to the smaller
and larger circle respect:ve}y
If QB=5 cm and PC=9 cm, then evaluate length of PQ.

8 ﬁwsscmmﬁ@%ﬁ%scmﬁgﬁmﬁaﬁﬁmﬂﬁgﬂﬁwwm@%wmaﬁ 2

T I SN 6 T 22 :
Why is it not possible tu construct a pair of tangents from a point P situated at a distance of 3 ¢cm from
the centre of a circle of radius 3.5 ¢cm ?

9 arrgaqr{faﬁmamm%ﬁpé%ﬁ:omﬁqawwm%q ETEAPOR 55°dIZQPR &1 2
HH 6 HIT |

&
In the adjoining figure PQ and PR are tangents from P to a circle with centre O. If ZPOR=55°,
find ZQPR.

10 mﬁﬁwaﬁwﬁ%m%mﬂmd%ﬁmsﬂ@%vﬁnﬁw#waﬁ%lmﬁaﬁ 2
& &wA 3R safte o & Swe %7 S 79 AR
-

In the figure, a square is inscribed in a circle of diameter d and another square is
circumscribing the circle. F].nd the ratio of the area of the‘outer square to the area of the inner
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Question numbers 11 to 20 carry 3 marks each.

11 x%ﬁfrqaaaﬂﬁq:abxzﬂbhac)x—bc:o ' 3
Solve for x : abx? + (b2 —ac)x~be=0

12 AP:9,4, ~1, .. Y99 31 W& 1 3 710 Fifera ' 3
Find the sum of the first 31 terms of the AP:9,4, -1, ...

13 Wwwmmgﬁmmﬁ.scmaﬁs:4%?343%13'1%!411%:3%1 k 3

Using geometrical construction, divide the line segment AB = 6.5 cm in the ratio5: 4,

14 mﬁwmmf?wm%mﬂﬁr%?ﬁﬁ@@wﬁmmmmsm%ramafrﬁﬂq% 3
FHRRI-Y & SR § A et g d) :
From the top of light-house, 40 m above the water, the angle of depression of a small boat is 60°. Find
how far the boat is from the base of the light-house.

15 am,a?wfmmawﬁwmm@(ﬁaﬁ@mmmqﬁwﬁ)zrrésaffa3
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WUZ-H / SECTION-C

(@) 5% AU
(b) 9T U & :
(0 =379 dm , ' | ®

A three digit number is made using the digits 0, 5, 7 (without repetition of digits). If a number
among them is selected at random, what is the probability that the number will be :

(@)  multiple of 5

(b) * multiple of 9

(c) will end with 7

16 fa‘gaﬂ'A(4,9}311?3(7,—12)@&?{1’-‘[37%%@1@?“ﬁﬂawi}ﬁﬁﬁp'%ﬁ%wfﬁm#ﬁqﬁaﬁ 3
TR e griga d g .

Find the coordinates of a point P on the line segment joining the points
A(4,9) and B (7, —12) that is twice as far from A as from B.

://jsuniltutorial.weebly.com/
ige 4 of 8 http://jsuni

*>



= ‘—.I = B N :1.-.

AC‘]}S‘E Coar-'ﬁlng for %tﬁerncﬁcs am:l’ ,Sc!cﬂec

& x-378 T e Tag I Hif, S e g (6, 3) 33, 0) ¥ WHET B 3
Find the point on the x-axis, which is equidistant from the points (6, 3) and
(3,0). 4

18 @a@ﬂnaﬁw%m%mﬂmaﬁmﬁ%mﬁmﬁmﬁmﬁmﬁ%uﬁ 3
= 42 cm O T TFD F TE o S § Frew 27 et wiE = @ Wi ? (= —7-a?rmﬁw

FHifeT)
To construct a circular table top of maximum area, how much of wooden ply is required, if it is to be
cut out from a square piece of wood of side

42 cm ? How much ply is being wasted ? (Use m = 572-]

19 A% 2.1 cm B AT g # TE 5 om B 3 7 cm $EE A1 R G 9 9 W STTHER FI 3
ﬁmmﬁrﬁm‘mmﬁmmwm| ;

If a metallic ball of radius 2.1 cm is put into a cylindrical cup full of water of adius 5 cm and
height 7 cm, then how much water is remaining in the cylindrical cup ?

20 wF A1) ¥ ¥ o o ) ¥, e e 15 cm 3R S F A & S FE: 56 con HIX 3
2 em¥| 39 F Ry e o W= g §?

A bucket is in the form of a frustum of a cone whose depth is 15 cm and the diameters of the
top and the bottom are 56 cm and 42 cm respectively. How many litres of water can the
bucket hold ? :

@UE-g / SECTION-D

T wen 21 31 F wlE F 4 90T ¥
Question numbers 21 to 31 carry 4 marks each.

21 am‘r{u‘imﬁﬁﬁfammm4x2+4bx_—(a2_b2)=o%tgaamerﬁfw 4

Find the roots of the quadratic equation 4x2+4bx— (a2=b?)=0 by the method of completing
: the square. ‘
22 gHEOI I TAFINC 1 +4+7+10+ .. +x=287 4

Solve the equation : 1+ 4 +7 + 10+ ... + x=287 .

23 fe—s R T 22 + px— 15 =0 1 T W & a1 e wHE pod +x) +k=0F T T 4
2, T p ARk ¥ T T HISC

If —5 Is a root of the quadratic equation 2x% + px— 15 .0 and the quadratlc equation p(x* +x) + k=0
has equal roots, then find the values of p and k.
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If dy and d, (d, >d,) are the diameters of two concentric circles and c is the length of a chord of the

v Al 2 2
circle, which is tangent to the other circle, then prove cl2 = c2 e 1:11 ;

25 fye ABC ¥ ww @ifwe R BC=6 ¥ W, AB=5 q @ o4
JABC = 60° 39 % TerE w Fge =1 v i fr 3 g AABC #1 € el H % Tl
2l |
Draw a AABC with side BC=6 cm, AB=5 cm and ZABC =60°. Then, construct a triangle
whose sides are % of the corresponding sides of AABC.

26 2 R T AR F AR F T TE @ i we § e R i W E ) TR A T g A Wy 4
o foig B T 31 AR ¥ Rore F A SR B B TR 0w 45° SR 30° 1 A A F SR
¥ 429 m F g W &, T FR F1 S 7 Firwe) faged A s F e w1 g ot 3@ ww
J3 =1.732 1 w9 HIfAQ ) |

Two people standing in line with the base of a minaret are looking up at it. One is at point A and the
other at point 8. The angles of elevation from A and B of the top of the minaret are 45° and 30°
respectively. If A is at a distance of 429 m from the base of the minaret, calculate the height of the

minaret. Also, find the distance between the points A and B. se 3 =1.732)

27w T AT S T WA i S e T R S we | 4
() AT SR _
(i) TSR ; > g

(i) FHEELI
. A die is thrown once. Find the probability of :
() getting a prime number
(i)  getting a composite number
(iii)  getting an even number

28 7z A(—2, 4), B(0, 0) 3R (4, 2) TF AABC ¥ WY € @ A, B 3R ¢ ¥ ST W A mieEwE B 4

AT 1 BT |
If A(—2, 4), B(0, 0) and C(4, 2) are the vertices of a AABC, then find the lengths of the medians
through A, B and C. %

29 B 2lm7m7m ' 4
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Stage 21m7m7m

A
B

A theatre company invites people for a drama show and makes sitting arrangement for the audience
. such that distance between two consecutive rows is 7 metres as shown in the figure. The first
enclosure A is kept for senior citizens and it has radius 21 m. How rmuch area has been reserved for
senior citizens ? What percentage of the whole sitting area is this ? What values of the organisers are

being depicted here ? (Use 7 = 572__}

0 st o A e #, o e g g d a g R e g 4
Feard 1:2:3 % oo & € o &l & et 3R sfemdt F s w wif)

An archery target has three regions formed by three concentric circles as shown in the figure.
If the diameters of the concentric circles are in the ratio 1.: 2 ; 3, then find the ratio of the areas

31 o fadiM UF o U9 901 & SER 71 2, foeF SR UF o g6 v om e §) fadi ¥ 4
SETHR W & A R FE FWE 126 om IR 5 cm F flget =t dqof $9€ 21 em &1 W
WWWWWWWI&=%WWW) '

A toy i5 in the form of a right circular cylinder with a right circular cone fixed above it. The
diameter and the height of cylindrical part of the toy are 126 cm and 5 cm respectively. The

total height of the toy is 21 cm. Find the total surface area of the toy. (Use = %2-)
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